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BOOKS - RD SHARMA MATHS (HINGLISH)

APPLICATION OF INTEGRALS

Solved Examples And Exercises

1. Find the area of the region bounded by the curve

y = z?and theliney = 4.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SI2XRamxizH5
https://dl.doubtnut.com/l/_BSZaj0tBl360

2. Find the area of the smaller part of the circle

z? + y* = a® cut off by the line z = el

V2

o Watch Video Solution

3. Find the area bounded by z = at? and y = 2at
between  the  ordinates  corresponding to

t=1and t = 2.

o Watch Video Solution

4. Find the area enclosed by the curve

x = 3cost,y = 2sint

S ]


https://dl.doubtnut.com/l/_BSZaj0tBl360
https://dl.doubtnut.com/l/_4USNVIjzDvlV
https://dl.doubtnut.com/l/_uK6DiUHa7RWK

| ¥ Vvatch Video Solution |

5. Sketch the region lying in the first quadrant and
bounded by y = 9z, 2 = 0,y = landy = 4. Find

the area of the region using integration.

o Watch Video Solution

6. Find the area of the region bounded by

y= —1l,y=2,2 =y and z = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_uK6DiUHa7RWK
https://dl.doubtnut.com/l/_hMHIuuDGniIU
https://dl.doubtnut.com/l/_38MjIaizxw8K

7. Find the area of the region included between the

parabolas y? = 4azandz?® = 4ay, wherea > 0.

° Watch Video Solution

8. Find the area of the region bounded by the curve

y — 3and thelinesy =z + 6and y = 0.

° Watch Video Solution

9. Find the area bounded by the curves

y = zandy = z°.

° Watch Video Solution



https://dl.doubtnut.com/l/_cIJflaGvX35l
https://dl.doubtnut.com/l/_r8wVqkYRifTc
https://dl.doubtnut.com/l/_OX1j50PzOBXB

10. Find the area bounded by the curves y = 2z —

and the straight liney = — z.

° Watch Video Solution

11. Find the area of the region between the parabola

r =y®> — 6yand thelinex = —y

° Watch Video Solution

12. Find the area of the region bounded by the

parabolay = z?and y = |z|.



https://dl.doubtnut.com/l/_OX1j50PzOBXB
https://dl.doubtnut.com/l/_ZWUaRmhTThF0
https://dl.doubtnut.com/l/_MHbr0eSxZ1f1
https://dl.doubtnut.com/l/_hKcxvsttafqS

l ° Watch Video Solution ‘

13. Determine the area under the curve y = v/a° — «

included between the lines = Qandxz = a-

o Watch Video Solution

14. Find the area of the region bounded by the

parabola y? = 2z and straight linez — y = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_hKcxvsttafqS
https://dl.doubtnut.com/l/_CUCU8oFbw3UY
https://dl.doubtnut.com/l/_wtN1BlbdZh9w

15. Find the area of the region bounded by the curves

y = 23 and thelinesy = z + 6and y = 0.

° Watch Video Solution

16. Using integration, find the area of the region
bounded by the line 2y = — = + 8x-axis is and the

linesxz = 2and ¢z = 4.

° Watch Video Solution

17.If the area above £ — a xi s ,bounded by the curves

2k33

andx = Oandx = 2is , then find the

o (log).2


https://dl.doubtnut.com/l/_TM8PxnSXxOJA
https://dl.doubtnut.com/l/_foawRBtGKyFe
https://dl.doubtnut.com/l/_Wv5ZSA4Yr3bO

value of k

o Watch Video Solution

18. Using integration, find the area of the region
bounded by the line y — 1 = z, thex — axis and the

ordinates x = — 2andx = 3.

o Watch Video Solution

19. Find the area bounded by the curve
y=(z—1)(z—2)(x —3) lying between the

ordinates x = Oandx = 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wv5ZSA4Yr3bO
https://dl.doubtnut.com/l/_eKA4wGDuqwnb
https://dl.doubtnut.com/l/_cTSghMPSOf0H

20. Find the area bounded by the curve

y = sinxzbetweenzr = Oandxr = 2.

o Watch Video Solution

21. Sketh the graph y= |z +1|. Evaluate

1
/ |z + 1|dx. What does this value represent on the
-3

graph?

° Watch Video Solution



https://dl.doubtnut.com/l/_cTSghMPSOf0H
https://dl.doubtnut.com/l/_Q4ho4JJvedTA
https://dl.doubtnut.com/l/_5sqWGs5dtzb8

22. Compute the area bounded by the lines x + 2y = 2,

y-x=Tand 2x+y=7.

° Watch Video Solution

23. Find the area of the region

{(z,y) 12’ +y" <4, z+y >2}

° Watch Video Solution

24. Using integration, find the area of the region
bounded by the following curves after making a rough

sketch:y =14+ |z + 1|,z = — 2,2 =3,y = 0.



https://dl.doubtnut.com/l/_WkGnVmW6zCY6
https://dl.doubtnut.com/l/_B9Xz2uSdVeFe
https://dl.doubtnut.com/l/_4YR2LFeIoY1x

l ° Watch Video Solution

25. Draw a rough sketch of the curves y = sinzand
s
y = cos x varies from 0 to Bl and find the area of the

region enclosed by them and x-axis

o Watch Video Solution

26. Sketch the curves and identify the region bounded

1
by the curves ¢ = 2% = 2,y = logxany = 2%. Find

the area of this region.

o Watch Video Solution



https://dl.doubtnut.com/l/_4YR2LFeIoY1x
https://dl.doubtnut.com/l/_ba1A6vN1yEPH
https://dl.doubtnut.com/l/_iPu1J0MVKavQ
https://dl.doubtnut.com/l/_4GVqq8VpdHNA

27. Compute the area of the figure bounded by the

straight lines z =0,z =2 and the curves

y=2%y=2 —

° Watch Video Solution

28. If the area enclosed between the curves
y = ax’andz = ay*(a > 0) is 1 square unit, then

find the value of a-

° Watch Video Solution



https://dl.doubtnut.com/l/_4GVqq8VpdHNA
https://dl.doubtnut.com/l/_pTdKvfkxU4Im

29. Find the area bounded by the curves

y = 6z — z’andy = z* — 2z

° Watch Video Solution

30. Find the area of the region bounded by

y = /randy = x.

° Watch Video Solution

31. Calculate the area of the region bounded by the

parabolas y? = 6zandz? = 6y.

° Watch Video Solution



https://dl.doubtnut.com/l/_E7f0LDiORdjE
https://dl.doubtnut.com/l/_v66MTK5rW4CG
https://dl.doubtnut.com/l/_I7zBYrwwk26E

32.If the area bounded by the parabola y*> = 4az and
a2
the line y=mx is T3 59 units, by using integration find

the value of m.

° Watch Video Solution

33. If the area enclosed by the parabolas
1024

y? = 16azandz’ = 16ay, a > Ozs sg- units, find

the value of a-

° Watch Video Solution



https://dl.doubtnut.com/l/_I7zBYrwwk26E
https://dl.doubtnut.com/l/_lUDStXUktxps
https://dl.doubtnut.com/l/_04f9daOLX6Q3

34. Find the area bounded by the Ilines

y=4x +5,y=>5—zanddy = = + 5.

° Watch Video Solution

35. Find the area enclosed by the curves

y=|x —1llandy = — |z — 1] + 1.

° Watch Video Solution

36. Examples: Find the area bounded by the parabola

y2 = 4ax and its latus rectum.

° Watch Video Solution



https://dl.doubtnut.com/l/_shaiVdRy1GdR
https://dl.doubtnut.com/l/_XEOobgBHkq7D
https://dl.doubtnut.com/l/_VFDAAKND5Ovk

37. Using integration, find the area of the region

bounded by the parabola 3> = 16z and the line z = 4

° Watch Video Solution

38. Find the area of the region bounded by the ellipse

o Watch Video Solution

39. Draw a rough sketch of the curve y = cos®z in

[0, 1] and find the area enclosed by the curve,the lines


https://dl.doubtnut.com/l/_VFDAAKND5Ovk
https://dl.doubtnut.com/l/_ccMFB5XGOc3R
https://dl.doubtnut.com/l/_PR6oH1ii6vrz
https://dl.doubtnut.com/l/_hQcrK6SbNnlG

x = 0, x = 7 and the x-axis.

o Watch Video Solution

40. Find the area of the region bounded by the line
y = 3x + 2, the x-axis and the ordinates x = — 1 and

r =1

o Watch Video Solution

41. Using the method of integration find the area

bounded by the curve |z| + |y| = 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_hQcrK6SbNnlG
https://dl.doubtnut.com/l/_jwnLoaRDT4Ns
https://dl.doubtnut.com/l/_x6GWQlPNNrif

42. Find the area lying above the x-axis and under the

parabola y = 4z — 22

° Watch Video Solution

43. Draw a rough sketch to indicate the region
bounded between the curve y?> = 4az and the line

x = 3. also, find the area of this region.

° Watch Video Solution

44. Make a rough sketch of the graph of the function

y=4—2% 0<z <2 and determine the area


https://dl.doubtnut.com/l/_ZS2DyenIiL4x
https://dl.doubtnut.com/l/_LenYTpkKi4rn
https://dl.doubtnut.com/l/_SrVxJtCCPIA1

enclosed by the curve, the x-axis and the lines

z =0and x = 2.

o Watch Video Solution

45. Using integration, find the area bounded by the

lines x+2y=2, y-x=1 and 2x+y=7

o Watch Video Solution

46. Find the area under the curve y = /6x + 4(above

the x-axis) from x=0 to x=2

o Watch Video Solution



https://dl.doubtnut.com/l/_SrVxJtCCPIA1
https://dl.doubtnut.com/l/_S6yccvtrgSlh
https://dl.doubtnut.com/l/_kSBwz7TnitdP

47. Draw the rough sketch of y? +1 =z, z < 2.
Find the area enclosed by the curve and the line

r = 2.

° Watch Video Solution

48. Draw a rough sketch of the graph of the curve

T
T + 9 = 1 and evaluate the area of the region

under the curve and above the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_85uzhlw7Vxps
https://dl.doubtnut.com/l/_0xpXbEH0f8Jk

49, Using integration, find the area of the region
bounded by the line 2y = 5x + 7, the x-axis, and the lines

x=2and x =8.

° Watch Video Solution

50. Sketch the graph of y = |z —5|. Evaluate

1
/ |z — 5|dz. What does this value of the integral
0

represent on the graph.

o Watch Video Solution



https://dl.doubtnut.com/l/_wdcNtxuYYqDi
https://dl.doubtnut.com/l/_IwHV2s541NHe

51. Sketch the graph of y = |z + 3|. Evaluate

0
/ |z 4+ 3|dxz. What does the value of this integral
—6

represent?

o Watch Video Solution

52. The area of the region bounded by the curve
xy—3—2y—10=0, X-axis and the lines

x=3,x=4is

o Watch Video Solution



https://dl.doubtnut.com/l/_26yAfnE0H1dq
https://dl.doubtnut.com/l/_3AlDoVHkGZ6P

Z .

53. Draw a rough sketch of the curve y = = + 2sin’z
s

, and find the area between the x-axis, the curve and

the ordinates x = 0 and , x = .

° Watch Video Solution

54. Draw a rough sketch of the curve y = z + 2sin’ z
s

, and find the area between the x-axis, the curve and

the ordinates x = 0 and , x = .

° Watch Video Solution



https://dl.doubtnut.com/l/_yuqhqfuTfeN6
https://dl.doubtnut.com/l/_4gv6hRc1QOQr

55. Find the area bounded by the curve y = cosz, x-

axis and the ordinates t = 0 and x = 2«

° Watch Video Solution

56. Find the area bounded by the ellipse

m2 2

— + 5 = land the ordinates x = Oandz = ae,
a b?

where, b = a2(1 — 62)ande < 1.

o Watch Video Solution

57. Examples: Find the area of the region bounded by

the curve y*> = 2y — « and the y-axis.



https://dl.doubtnut.com/l/_Xg8W9zdhx3u5
https://dl.doubtnut.com/l/_Ie02aLnIfISA
https://dl.doubtnut.com/l/_EovNUYujHbfr

[ o Watch Video Solution

58. Find the area bounded by the curve y* = 4az and

the lines y = 2 and y-axis.

o Watch Video Solution

59. Find the area of the region lying in the first
quadrant and bounded by y = 4z°,

x =0,y = landy = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_EovNUYujHbfr
https://dl.doubtnut.com/l/_hXELQ22Hlk1w
https://dl.doubtnut.com/l/_00jvCSIbdCVE

60. Find the area of the region bounded by
2> =16y, y=1, y = 4 and the y-axis in the first

quadrant.

° Watch Video Solution

61. Find the area enclosed between the parabola

4y = 3z? and the straight line 3z — 2y + 12 = 0

o Watch Video Solution

62. Find the area bounded by the curve z? = 4y and

the straight line z = 4y — 2.



https://dl.doubtnut.com/l/_bgD1Y1g0hs8Q
https://dl.doubtnut.com/l/_XjlXlG59gFLw
https://dl.doubtnut.com/l/_VugZmlJK2tzx

I ° Watch Video Solution

63. Find the area enclosed between the parabola

y* = 4azand the line y = mz.

o Watch Video Solution

64. Find the area of the region bounded by the curves

y=2x’+2y=zx,z =0,andz = 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_VugZmlJK2tzx
https://dl.doubtnut.com/l/_wb9TiVwjuGb7
https://dl.doubtnut.com/l/_dViePWgfRNgq

65. Find the area of the region bounded by

y = /randy = x.

° Watch Video Solution

66. &
{(z,y):0<y<z*+1L,0<y<z+1,0<z<2}

BT SF%Be] 51Td DIfiU |

° Watch Video Solution

67. Find the area of the smaller region bounded by the

2 2
x
elllpse — + Z—2 = land theline E + % =1



https://dl.doubtnut.com/l/_Eh7bTyrRUaY4
https://dl.doubtnut.com/l/_5Rs4JupVTli0
https://dl.doubtnut.com/l/_qvr91WN3bIle

[ o Watch Video Solution

68. Find the area of the region

{(z,9):9" < 4z, 42” + 49° < 9}

o Watch Video Solution

69. Find the area of the region enclosed between the

two circles > + y* = land (z — 1)2 +yP =1

o Watch Video Solution



https://dl.doubtnut.com/l/_qvr91WN3bIle
https://dl.doubtnut.com/l/_Jyi2NRqoWboa
https://dl.doubtnut.com/l/_2VfgQLb4fjYl

70. Prove that the curves y? = 4zand z? = 4ydivide
the area of the square bounded by

x =0,z = 4,y = 4dandy = Ointo three equal parts.

° Watch Video Solution

71. Find the area bounded by the curve

4y?> = 9z and 3z? = 16y

o Watch Video Solution

72. Find the area of the region bounded by

y = /randy = x.



https://dl.doubtnut.com/l/_X5ZSBUISov6P
https://dl.doubtnut.com/l/_csBKNxHbRZRG
https://dl.doubtnut.com/l/_jrWYEeg6Jpb9

l ° Watch Video Solution

73. Find the area bounded by the curves y = 4 — z?

and thelinesy =0 and y = 3

° Watch Video Solution

74.Using integration, find the area of the triangle ABC

whose vertices are A( — 1, 1), B(0, 5) and C(3, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_jrWYEeg6Jpb9
https://dl.doubtnut.com/l/_LraPpm1Foy2M
https://dl.doubtnut.com/l/_ek47WM7U12Bd

75. Using integration find the area of the triangular
region whose sides have equations

y=2x+1, y=3z+1landx =4

° Watch Video Solution

76. Find the area of the region enclosed between the

two circles: 22 + y? = 4and (z — 2)® + ¢% = 4.

° Watch Video Solution

77. Using integration, find the area of the region

common to the circle 2 + y? = 16 and the parabola


https://dl.doubtnut.com/l/_iFelLtx1usVG
https://dl.doubtnut.com/l/_mL9dG36h7hN6
https://dl.doubtnut.com/l/_SpqcLqrods7E

y? = 6z.

o Watch Video Solution

78. Find the area of the region included between the

parabola y? = z and thelinez +y = 2.

o Watch Video Solution

79. Draw a rough sketch of the region
{(m, y):y* < 3z,32% 4 3y* < 16} and find the ara
enclesed by the region using the method of

intergraion

o Watch Video Solution



https://dl.doubtnut.com/l/_SpqcLqrods7E
https://dl.doubtnut.com/l/_oo9KIFrC158p
https://dl.doubtnut.com/l/_EQN7Rno8vDuO

80. Draw a rough sketch and find the area of the
region bounded by the parabolas
y? = 4z and 2* =4y, using the method of

integration.

o Watch Video Solution

81. Find the area of the region in the first quadrant
enclosed by xaxis, line z = ,/3yand the circle

z? +y? =4

o Watch Video Solution



https://dl.doubtnut.com/l/_EQN7Rno8vDuO
https://dl.doubtnut.com/l/_phLyr36zbqab
https://dl.doubtnut.com/l/_3cjFxFZHJest
https://dl.doubtnut.com/l/_0ETJbwCC9aLF

82. Find the area common to the circle

z? + y? = 16a® and the parabola y* = 6az, a > 0.

° Watch Video Solution

8. Find the area, lying above the x=axis and included
between the circle z° + y® = 8z and the parabola

y2 = 4w

o Watch Video Solution

84. The area common to the parabolas y = 2z and

. 2 3 3
y = x° + 4 (in square units) is (A) 3 (B) 3 (C) 3 (D)


https://dl.doubtnut.com/l/_0ETJbwCC9aLF
https://dl.doubtnut.com/l/_Jt0bhzKknVTS
https://dl.doubtnut.com/l/_u5ZhSBdNoVO9

o Watch Video Solution

85.Find the area of the region bounded by the curves

y=z—1&(y—1)° = 4(z + 1).

o Watch Video Solution

86. Find the area bounded by the parabola y = 2 — z*

and the straight liney + z = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_u5ZhSBdNoVO9
https://dl.doubtnut.com/l/_C9rc42zYaKzK
https://dl.doubtnut.com/l/_ZmxU4qSxfgfb
https://dl.doubtnut.com/l/_6giS8iq3LuHn

87. Using the method of integration, find the area of
the region bounded by the following lines

3r —y—3=0,2z+y—12=0,z —2y— 1= 0.

o Watch Video Solution

88. Find the area bounded by the curves = y* and

r=3— 2°%

o Watch Video Solution

89. Find the area of the region in the first quadrant
enclosed by the x-axis, the line y = x and the circle

x4 y? = 32.


https://dl.doubtnut.com/l/_6giS8iq3LuHn
https://dl.doubtnut.com/l/_7KNkaLGcc2uy
https://dl.doubtnut.com/l/_jsbpdWrzrnn8

o Watch Video Solution

90. Find the area of the circle
z? + y* = 16whichisexteri or — theparabolay® = 6x

by using integration.

o Watch Video Solution

91. Find the area of the region enclosed by the
parabola > =y ,the liney = =z + 2 and

the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_jsbpdWrzrnn8
https://dl.doubtnut.com/l/_1yXM25cN8imR
https://dl.doubtnut.com/l/_Y7CwqdD5X5mO
https://dl.doubtnut.com/l/_o3hWeGNzPDZm

92. Make a rough sketch of the region given below and
find its area using integration

{(w,y):0§y§w2—|—3,0§y§2m+3,0§w§3}

° Watch Video Solution

93. Find the area of the region

{(z,y) 12 +y* <4, v +y >2}

° Watch Video Solution



https://dl.doubtnut.com/l/_o3hWeGNzPDZm
https://dl.doubtnut.com/l/_t7Fcw58oEhov

94. In what ratio does the x-axis divide the area of the

region bounded by the parabolas

2

y =4z — z?andy = z*> — z?

° Watch Video Solution

95. Using integration, find the area bounded by the

curvesy = |z — 1|andy = 3 — |z|.

° Watch Video Solution

96. Find the area of the region between the parabola

r = 4y — y? and the linez = 2y — 3.



https://dl.doubtnut.com/l/_xRhc13GA9IgA
https://dl.doubtnut.com/l/_VTtkgVwU08pt
https://dl.doubtnut.com/l/_vbBWNXC8P6Pw

l ° Watch Video Solution

97. The area bounded by the parabolay > = 4z and

the line y = 2z — 4 on the Y-axis.

° Watch Video Solution

98. If the area above the x-axis, bounded by the curves

y = 2" and x=0,and x = 2 is , then the value

log, (2)
ofkis

o Watch Video Solution



https://dl.doubtnut.com/l/_vbBWNXC8P6Pw
https://dl.doubtnut.com/l/_ctuFh7qG5Kxq
https://dl.doubtnut.com/l/_G4fTUvRtt6Op

99. Find the area included between the curves z? = 4y

and y? = 4z.

° Watch Video Solution

100. The area bounded by the curve y = log, z, the x-

axis and the line £ = e is (A) e sqg. units (B) 1 sq. unit

(C) (1 — é) sg. units (D) (1 + %) sg. units

° Watch Video Solution

101. If A, be the area bounded by the curve

y = (tanz™) ands the lines ¢ =0, y=0, x =7 /4


https://dl.doubtnut.com/l/_RMOpJyVXyVqe
https://dl.doubtnut.com/l/_V3W1muxZI0Cr
https://dl.doubtnut.com/l/_ccPVV1QEf2vo

1
n+1

Prove that for n > 2. , A, +A,.2 = and

1
2n — 2

deduce <A, <

2n + 2

o Watch Video Solution

102. The area enclosed between the curves

1
y = (log).(z +¢€),z = (log), (5), and the x-axis is

2squnits (b) 1squnits 4squnits (d) none of these

° Watch Video Solution

103. The area of the figure bounded by the parabola

(y — 2)> =« — 1, the tangent to it at the point with


https://dl.doubtnut.com/l/_ccPVV1QEf2vo
https://dl.doubtnut.com/l/_0mk7MaXKY4dI
https://dl.doubtnut.com/l/_Yj8S2zvJxuPQ

the ordinate x = 3, and the x — a&s is Tsqunites (b)

6squnites 9squnites (d) None of these

o Watch Video Solution

104. Find the area bounded by the parabola

y = z? 4+ 1and the straight linexz + y = 3.

o Watch Video Solution

105. The ratio of the areas between the curves

y =cosx and y = cos 2z and x-axis from z = 0 to

T = % is(A)1:3(B)2:1(C) \/§: 1 (D) none of these

o Watch Video Solution



https://dl.doubtnut.com/l/_Yj8S2zvJxuPQ
https://dl.doubtnut.com/l/_UCjQDD0uElNU
https://dl.doubtnut.com/l/_OJ32r2u2R9Bn

106. Area between the x-axis and the curve y = cos z,

when 0 < z < 27mis (A)0(B)2(C) 3 (D)4

o Watch Video Solution

107. Area bounded by the parabola 3> = z and the line

: 4 2 1
2y=$lS(A)§(B)1(C)§(D)§

o Watch Video Solution

108. The area enclosed between the curve

y*(2a — ) = 2° and the line =z =2 above the


https://dl.doubtnut.com/l/_OJ32r2u2R9Bn
https://dl.doubtnut.com/l/_9bNwW56bzhX9
https://dl.doubtnut.com/l/_8ZjSEt1M5AlF
https://dl.doubtnut.com/l/_hsTaXYYi1RJ0

3mra?
2

x — a&s is Wazsqil,nits (b) squnits 27ra23qimits

(d) 37ra2sqimz'ts

o Watch Video Solution

109. The area bounded by the curves y = f(x), the x-
axis, and the ordinates =z = landx =0b s
(b — 1)sin(3b + 4)- Then f(z) is. (x — 1)cos(3z + 4)
sin(3z + 4) sin(3z + 4) + 3(x — 1)cos(3z + 4)

None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_hsTaXYYi1RJ0
https://dl.doubtnut.com/l/_wtAJROFqMNvC

0. The area  bounded by the curve

16 .
y? = 8z and z? = 8y is ?squmts b. ﬁsqumts C.
14

— squnits d.

3 14 — squnits

° Watch Video Solution

111. Area bounded by the curve y = z3, the x-axis and

—15
the ordinates £ = 2and = = lis(A) —9 (B) S (C)

17
()

° Watch Video Solution



https://dl.doubtnut.com/l/_jS13IX2AvVBj
https://dl.doubtnut.com/l/_B8I3lB1vzpsC

112. The area bounded by the curve y = z|z|, x-axis

5 4
and the ordinates x = — 1, x = 1 is (A) 3 (B) 3 (C)
2 () 1
373

° Watch Video Solution

113. The area bounded by the y-axis, y = cos xand
y=scawhen 0<z< —is(A) 2(y2—1) (B)

2
V2 —1(0)v/2+1(D) v2

° Watch Video Solution



https://dl.doubtnut.com/l/_MPqH3kzV5kOw
https://dl.doubtnut.com/l/_Sd1K89CUgYRg

114. The area of the circle 2> 4+ y?> = 16exterior to the

parabola y? = 6zis(A) %(4# — \/3) (B) %(47r + \/3)

(C) %(87‘( ~/3) (D) §(87r ++/3)

° Watch Video Solution

115. Smaller area enclosed by the circle z? + y? = 4
and the line x + y = 2is(A) 2(m — 2) (B) m — 2 (C)

2 — 1 (D) 2(7 + 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_IqUf6QBjANXn
https://dl.doubtnut.com/l/_Xy2sWGfn4cwy

116. Area lying between the curves y? = 4dzand y = 2z

2 1 1 3
is(A) (B) 3 (C) 1 (D) 1

° Watch Video Solution

117. Area lying in the first quadrant and bounded by
the circle 22 4+ y? = 4and the lines z = Oandz = 2

is(A) 7 (B) — (C) 3 = (D) %

° Watch Video Solution

118. Area of the region bounded by the curve

y?> = 4z ,yaxis and theliney = 3is (A) 2 (B)


https://dl.doubtnut.com/l/_VSqmDqrOfNPk
https://dl.doubtnut.com/l/_T8ttklbVL52t
https://dl.doubtnut.com/l/_rPHKvbcXS5UN

9C9D2
7@ 3D

o Watch Video Solution

1. Find the area enclosed by the curve y =2

2 and

straight linez +y + 2 = 0.

° View Text Solution

2. Find the area bounded by the curve

y2 = 4a2(93 — 1) and the lines z = landy = 4a.

I o \ iswr Tavk CAliikian



https://dl.doubtnut.com/l/_rPHKvbcXS5UN
https://dl.doubtnut.com/l/_VB8X5DLJrF50
https://dl.doubtnut.com/l/_ppBcm1XraS95
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3. Find the area of region bounded by z? + 16y = 0

and its latusrectum.

o View Text Solution

4. Find the area of region bounded by the curve
ay” = x°, the y—afs and the lines

y = aandy = 2a.

° View Text Solution



https://dl.doubtnut.com/l/_ppBcm1XraS95
https://dl.doubtnut.com/l/_Cg90Bb9yMhIy
https://dl.doubtnut.com/l/_PeKYfqSnlGvK

5. Sketch the region bounded by y = 2z — z? and

x — axis and find its area using integration.

o View Text Solution

6. Find the area enclosed by the curves

3z + by = 32andy = |z — 2|

° View Text Solution



https://dl.doubtnut.com/l/_FNDWB48Gyi2C
https://dl.doubtnut.com/l/_hBWRPavEY9dL

